CAST PARTICOLART DELLA DIVISIONE

IL DIVIDENDO ¢ UGUALE AL DIVISORE

8:8=1 perché 1x8=8 3:3= perché ...
7:7-= perché ... 9:9:= perché ...
5:5= perché ... 4:4- perché ...
2:2= perché ... 6:6= perché ...

PG XD XS XG> XS XS XS

IL DIVISORE E UNO

7:1=7 perché 7x1=7 4:1=. perché ...
5:1=. perché ... 8:1=_. perché ...
3:1=. perché ... 2:1=_ perché ...
9:1=_. perché ... 6:1=_. perché ...

/N /N /N /N /N /N /N /N /N /N /N /N

IL DIVIDENDO e ZERO

0:3=0 perché 0x3=0 0:4=0 perché ...
0:7=0 perché ... 0:9=0 perché ...
0:5=0 perché ... 0:2=0 perché ...
0:8=0 perché ... 0:6=0 perché ...
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